STAAR Grade 8 Math Answer Key
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The table shows y as a function of x.

x|y
—4f -5
~-2[-3
6 5
8 7

Which ordered pairs can also belong to the function?

Select TWO correct answers.

1.2

Rectangle MNPQ is translated 4 units left and 3 units up. Write a rule that describes this transformation.

Move the correct answer to each box. Not all answers will be used.

x+3 ¥—3 —-4x 3I¥ x+4 x—-4 y+3 y-—-4

1.3

Desmond wants to attend a college that costs $15,000 for the first year. Desmond’s family has saved 56,000, and
he has applied for a $1,500 scholarship. To have the full amocunt needed to pay for the year's tuition, his family will
set aside a fixed amount of money each month for the next 12 months.

How much should Desmaond’s family save each month for the next 12 months to have enough money to pay for his
first year of college?

Maove the correct answer to each box. Not all answers will be used.
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Which values of x make the ineguality true?
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Select THREE correct answers.,
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1.5
The value of v is 3 more than twice the opposite of x. Which of these represent this relaticnship?

Select TWO correct answers.

y=—2x+3
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1.6

The graph of a linear function is shown on the coordinate grid.
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What are the slope and the y-intercept of the function?

Enter numbers in the boxes provided.

1
slope: 1

_19—r'nrercepr:( O . —2 )

L2 |
« | s
s

Lk

=g

CICICIGIC)

L=}

olo




1.7
The graph of a linear function is shown con the grid.
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Create an equation that represents the relationship shown on the graph.

Move the correct answer to each box. Not all answers will be used.

y=|§ x+|5-

The table describes two dilations with the center of dilation at the origin. Which rule describes each dilation?

1.8

Move the correct answer to each box in the table. Mot all answers will be used.

Description of Shape Dilated

o & (s e Rule of Dilation

A triangle is dilated by a 11
scale factor of é % y)—-{zx, 2’“)

A square is dilated by a

scale factor of 2. 0, y) —> (2%, 2y)




1.9
A business owner opens a new investment account with a $10,000.00 deposit:
* The investment account earns 2.5% interest, compounded annually.
* The business owner does not plan to make any deposits or withdrawals.
How much interest will the investment account earn at the end of the first and second years?

Move the correct answer to each box. Mot all answers will be used.

The account will earn | $250.00 | in interest at the end of the first year.
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